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Q 1. Choose the correct option and answer the following questions:

Vi.

Vii.

viii.

Xi.

Xii.

Xiii.

The successor of 3456 is

a) 3456 b) 3457 c) 3458 d) 3459
The number that make perfect pairs are numbers.
a) Even b) odd c) both d) none
The number that do not make perfect pairs are numbers.
a) Even b) odd c) both d) none
Place value of 9in 9845 is
a) 9000 b) 900 c) 90 d)9
Roman numeral for 24 is
a) XX b) XXIl c) XXIV d) XXV
Hindu Arabic numeral for XXIX is
a) 17 b) 18 c) 19 d) 20
1240 + 1000 =
a) 1210 b) 2210 c) 2240 d) 2420
The sum of a number and 1 is of a number.

a) Successor
(348 + 249 ) + 654 =
a) 348 b) 249

The sum of number and

b) predecessor

c) place value
+ (249 + 654)
c) 654

d) face value

d) 0

is the number itself.

a) 1 b) 2

In subtraction the bigger number is called

c)3

a) Minuend b) Subtrahend c) difference
1564 — 1564 =

a) 0 b) 1 c) 1564
1342 - = 1343

a)o b) 1 c)3

d) 1343




Q 2. Fill in the blanks:

Vi.

Vii.

viii.

Xi.

Xii.

Q 3. State whether the following statements are ‘True’ or ‘False’:

The greatest number formed by the digits 3,0,2and 1 is

Short form of 3000+600+30+2 =

Place value of O is always

Face value of 5in 7650 is

8856 + 100 =

1104 + 5513 =

The sum of a number and 0 is always the

In subtraction, the number to be subtracted is called

The answer we get after subtraction is called

499 - =0

6789—-1=

-1=319

The predecessor of 6450 is 6451 .

Roman numeral system does not have any symbol to represent

iii. Subtraction can be checked using addition.

iv. 3000 + 2000 = 1000

iv. 5000 + 300 +30 +3 =5333

vii. Minuend = Subtrahend + difference

viii

iX.

. 2563 — 1095 = 1468

400 + 345 = 345 + 400

X. Round off nearest tens of 546 is 500

xi. 4567 is an even number

Xiii.

Roman numeral for 40 is XXXX

’




